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1 print((20-10)+30) mmp -
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1 print(60*(5+5))
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1 print(60*(5+45))
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AIALUNTS AURUNY A98194N15 LU WNAANS

ladwinfw Xl=y

Yasn1iominu X<=y

UDHNI




UWDUCQSSA:

awauassa: (logical expression) Wudwaunly

G

YQLguQassaAs

(logical operation) (luaisUszudawacAbuUMS

G

noglunaia bool Mddunisnvassa:niglulwnouiavl

AIATIUNTS A1UALNE

and Lay




A1sUs=MACOuUsSIWaMUdIuAdaAIaas

lUsuasuAIuduA=LlUU

G

uAmudstdudiay
[ucovla ™ "
kKinasoulagsigsamuus
Lazada1iguMIsnvAguaAaas

X scorel = 50 ‘//////
score2 = 30 a2 uuunlafna 86
sum _scrore = scorel + score2 - I

. = _——
print("ezuuunlsdma” , sum_scrore)

;
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a = 100
b = 60

print("a-b =" , a-b)
print("ash = ", a%b)
prunt("a//b =", a//b)

;
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